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a is a positive constant and x # —2. What is the
value of a?

%a + 2b)?
@v a+2bY?

2. If a® + b* = z and ab = y, which of the

following is equivalent to 4z + 8y? ﬁ/ ( & 1@7') =t gw
1=t F8ak

X (4a + 4b)?

N (4a + 8b)?

4. Intersecting lines 7, s, and t are shown below.




5. —-2x+3y=6 5& =2X +/o

In the xy-plane, the graph of which of the following

equations is perpendicular to the graph of the — 2
equation above? j - = X + Z
x +2y=6 3
3x+4y=6 - ",:3
(3= =2

2x+4y =6

R)’2x+6y=3

1. REVIEW

a. Multiply the following €] é;resswns
xyey)= X t @X\/—}-Y (@+2)(a-4)= ﬁ/ -2~ g

)Q ctor the followin expresswn
(g -2

7 V1 c. Solve the following equations.

BX—Z:ZL ,96) %4a—222aL

Db _gb+15=

In AABC above, what is the length of segment AD?
A) 4

C) 6v2

D) 6V3

2. Three snowboarders are heading back to the lodge after a long day on the slopes.
Slick, the best snowboarder of the three, always tells the truth. Toober sometimes tells
the truth, while Mogulman, the worst snowboarder, never tells the truth. Label each
snowboarder's picture with his correct name.

The guy in the middle

The guy in the I'm Toober.
is Mogulman.

middle is Slick.

Y




3. Fill in the blanks to complete a statement that defines the process you used to label the b? ab a?

snowboardeys.
i ) ed \A (4"\ V@ V MS. m m 1. Use the answer choices above to fill in the blanks in the diagram and show why the
ses statements known to be true to

mathematical statement is true.

establish the truth of additional statements that f from them. a6 0 i 555 4
b [ ] |
a [] |
a b
2. Solve the following equation. As you complete each step in the solution, take time to Before you continue with the Student Activity Sheet, take some time to review the
think about why that step is true. Show all of your work. properties of real numbers shown in the table below.
4x +2 =10 Properties of Equality

For any real numbers a, b, and c:

Ifa=b, Ifa=b,
thena+ec=b+ec. then b can substitute for @ in any equation.

Ifa=b,
thena—c=b—c.

B
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Ifa=b, Ifa=b,

then ac = be. thenb=a.
Ifa=b, Ifa=b,

a b andb=¢,
Bien S ey €0 thena=c,



3. When the properties are listed alongside an equation so that each step is justified, the
result is an algebraic proof. Use the properties of equality to complete the justification

of the solution to the equation you solved in question 2.

Statements

Reasons

4x+2=10

Given equation

4x+2-2=10-2

4x =8 Simplify
4x _8

4 4
x=2

Simplify




